
math4u.vsb.cz

TRANSFORMATIONS OF GRAPHS
OF LOGARITHMIC FUNCTIONS

MATCHING GAME

The goal of the puzzle is to make correct pairs of questions and answers with a minimal
amount of incorrect attempts.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



SCORE

A mathematical problem should be difficult in order to entice us, yet not completely inaccessible,
lest it mock at our efforts.
David Hilbert, German mathematician.

Match the graphs with the corresponding functions.

The puzzle is finished. You can see you score
or browse the questions again. x
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a f (x) = log2 x − 2f (x) = log2 x + 2f (x) = log2(x − 2)f (x) = log2(x + 2)f (x) = 2 log2 xf (x) = 1
2 log2 x

b f (x) = log2 x − 2f (x) = log2 x + 2f (x) = log2(x − 2)f (x) = log2(x + 2)f (x) = 2 log2 xf (x) = 1
2 log2 x

c f (x) = log2 x − 2f (x) = log2 x + 2f (x) = log2(x − 2)f (x) = log2(x + 2)f (x) = 2 log2 xf (x) = 1
2 log2 x

d f (x) = log2 x − 2f (x) = log2 x + 2f (x) = log2(x − 2)f (x) = log2(x + 2)f (x) = 2 log2 xf (x) = 1
2 log2 x

e f (x) = log2 x − 2f (x) = log2 x + 2f (x) = log2(x − 2)f (x) = log2(x + 2)f (x) = 2 log2 xf (x) = 1
2 log2 x

f f (x) = log2 x − 2f (x) = log2 x + 2f (x) = log2(x − 2)f (x) = log2(x + 2)f (x) = 2 log2 xf (x) = 1
2 log2 x



Good job, buddy!Wow! Do your friends by any chance
call you Wolfram or maybe Alpha?

Great, now you can try solving one of
the Millennium Prize problems!
Great, you are very good at this!That was excellent!A little harder and you would kill it. Try

it again.
That’s like when you end up second in a
competition when you could have won it.

A small step remains,
next time will be glorious!
Good work, have a biscuit.Hermione’s top of the class title is

almost on the line.
Try again, practice makes perfect!All great scientists made some mistakes

in their life. Just like you.
It’s not bad, but you can do better!Making mistakes is better than faking

perfection.
You can do better! You have to work

harder!
You made a lot of mistakes.
You aren’t good at this yet.

Ehm, you aren’t Jesus walking on water.
Get back on the ground!

Keep trying. It will be better next time.That didn’t end up very well.
You should study more.

You got it. Don’t throw in the sponge!There was a time
Einstein couldn’t count to 10 either.

The awkward moment, when you finish a
math problem and your answer isn’t

even one of the choices. . . .

For this test - the goose is in the oven!
Try another test.

We should blame the weather!Have you ever seen the way a chicken
flies?

You solve math problems that way. . .




